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narjmWu H$moS >H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð 
>na Adí` {bIo§ & 
Candidates must write the Code on the 

title page of the answer-book. 

 H$moS> Z§.      

 Code No. 
  

amob Z§. 
Roll No. 
 

 

 

 ZmoQ>  NOTE 

(I) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV 
n¥ð> 11 h¢ & 

(I) Please check that this question 

paper contains 11 printed pages. 

(II) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS 
>Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

(II) Code number given on the right 

hand side of the question paper 

should be written on the title page of 

the answer-book by the candidate. 

(III) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _|  
>39 àíZ h¢ & 

(III) Please check that this question 

paper contains 39 questions. 

(IV) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go 
nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ 
Adí` {bI| & 

(IV) Please write down the Serial 

Number of the question in the 

answer-book before attempting it. 

(V) Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m 
g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU 
nydm©• _| 10.15 ~Oo {H$`m OmEJm &   
10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db 
àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y Ho$ Xm¡amZ 
do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

(V) 15 minute time has been allotted to 

read this question paper. The 

question paper  will  be  distributed 

at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will read the 

question paper only and will not 

write any answer on the answer-

book during this period. 

gwajm 
SECURITY 

{ZYm©[aV g_` : 2 KÊQ>o   A{YH$V_ A§H$ : 50 

Time allowed : 2 hours Maximum Marks : 50  
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gm_mÝ` {ZX}e : 

{ZåZ{b{IV {ZX}em| H$mo ~hþV gmdYmZr go n{‹T>E Am¡a CZH$m g™Vr go nmbZ H$s{OE :  
(a) Bg àíZ-nÌ _| Xmo IÊS> h¢ — IÊS> H$ … amoOJma H$m¡eb Am¡a IÊS> I … {df` H$m¡eb & 
(b) IÊS> H$ … amoOJma H$m¡eb (10 A§H$) 

(i)  {XE JE 6 àíZm| _| go {H$Ýht 4 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 1 A§H$ H$m h¡ & 
(ii)  {XE JE 5 àíZm| _| go {H$Ýht 3 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 2 A§H$ H$m h¡ & 

(c) IÊS> I … {df` H$m¡eb (40 A§H$) 
(i)  {XE JE 12 àíZm| _| go {H$Ýht 10 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 1 A§H$ H$m h¡ & 
(ii)  {XE JE 6 àíZm| _| go {H$Ýht 4 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 2 A§H$ H$m h¡ & 
(iii)  {XE JE 6 àíZm| _| go {H$Ýht 4 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 3 A§H$ H$m h¡ & 
(iv)  {XE JE 4 àíZm| _| go {H$Ýht 2 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 5 A§H$ H$m h¡ & 

(d) Bg àíZ-nÌ _| 39 àíZ em{_b h¢ {OZ_| go 27 àíZm| Ho$ CÎma XoZo h¢ & 
(e) g^r àíZm| Ho$ {deof ^mJ/IÊS> H$mo ghr H«$_ _| H$s{OE &  
(f) A{YH$V_ g_` 2 K§Q>o h¡ & 

IÊS> H$ 

 (amoOJma H$m¡eb) 10 A§H$  

{XE JE 6 àíZm| ‘| go {H$Ýht 4 àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 1 A§H$ H$m h¡ & 14=4 

1. {H$gr {ZOr g§Mma (personal communication) _| A_m¡{IH$ g§Mma (non-verbal) H$m 
VÎd {H$VZo à{VeV hmoVm h¡ ?  1 

(A) 58%  
(B) 93% 
(C) 69% 
(D) 38% 

2. {ZåZ{b{IV _| go H$m¡Z-gm VZmd H$m bjU Zht  h¡ ?  1 

(A) {dídmg  
(B) WH$mZ 
(C) ngrZo go Va hWo{b`m± 
(D)  _w±h gyIZm 

3. {ZåZ{b{IV _| go H$m¡Z-gm AÀN>o VZmd à~§YZ H$m bm^ h¡ ? 1 

(A) AÀN>m _yS> 
(B) AÀN>r amoJà{VamoYH$ e{º$ 
(C) emar[aH$ e{º$ 
(D) Cnamoº$ g^r   
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(a) This question paper consists of two sections viz. Section A : Employability 
Skills and Section B : Subject Skills.  

(b) Section A : Employability Skills (10 Marks)  

 (i) Answer any 4 questions out of the given 6 questions of 1 mark each. 

 (ii) Answer any 3 questions out of the given 5 questions of 2 marks each. 

(c) Section B : Subject Skills (40 Marks)  

 (i) Answer any 10 questions out of the given 12 questions of 1 mark each. 

 (ii) Answer any 4 questions out of the given 6 questions of 2 marks each. 

 (iii) Answer any 4 questions out of the given 6 questions of 3 marks each. 

 (iv) Answer any 2 questions out of the given 4 questions of 5 marks each. 

(d) This question paper contains 39 questions out of which 27 questions are to be 

answered. 

(e) All questions of a particular part/section must be attempted in the correct 
order. 

(f) The maximum time allowed is 2 hours. 

SECTION A 

 (Employability Skills) 10 Marks  

Answer any 4 questions out of the given 6 questions of 1 mark each. 14=4 

1. What percentage of non-verbal element is there in any personal 

communication ?  1 

(A) 58%  

(B) 93% 

(C) 69% 

(D) 38%  

2. Which of the following is not a sign of stress ?  1 

(A) Confidence 

(B) Fatigue 

(C) Sweaty palms 

(D) Dry mouth   

3. Which of the following is the benefit of good stress management ?  1 

(A) Good mood 

(B) Better immunity 

(C) Physical strength 

(D) All of the above 



 

  .90 4  

4. {ZåZ{b{IV _| go H$m¡Z-gm EH$ Am°ZbmBZ dS>© àmogoga (Online Word Processor) h¡ ?  1 

(A) JyJb S>m°Šg (Google Docs) 
(B) E_.Eg. dS>© (MS Word) 
(C) ñQ>maAm°{\$g (StarOffice) 
(D) Or_ob (Gmail) 

5. ì`dgm` {H$g àH$ma H$s J{V{d{Y h¡ ?  1 

(A) namonH$mar   
(B) amOZr{VH$  
(C) gm_m{OH$  
(D)  Am{W©H$ 

6. {ZåZ{b{IV _| go H$m¡Z-gm Aj` D$Om© H$m òmoV Zht  h¡ ? 1 

(A) gy`© 
(B) àmH¥${VH$ J¡g  
(C) Ob  
(D)  hdm (dm`w) 

{XE JE 5 àíZm| ‘| go {H$Ýht 3 àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 2 A§H$ H$m h¡ & 23=6 

7. dm{MH$ g§Mma (oral communication) Ho$ {H$VZo àH$ma h¢ ?  2 

8. gwà~pÝYV VZmd gH$mamË_H$ h¡ & g_PmBE & 2 

9. Q>oånmoao[a \$moëS>a (Temporary Folder) go \$mBëg H$mo hQ>mZo H$s à{H«$`m H$mo MaU~Õ 
VarHo$ go {b{IE & 2 

10. EH$ CÚ_r Ho$ H$moB© Mma JwU {b{IE & 2 

11. h[aV AW©ì`dñWm H$mo n[a^m{fV H$s{OE & 2 

IÊS> I 

 ({df¶ H$m¡eb) 40 A§H$  

{XE JE 12 àíZm| ‘| go {H$Ýht 10 àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 1 A§H$ H$m h¡ & 110=10 

12. gmdYmZ H$s _wÐm _|, XmoZm| n¡am| Ho$ ~rM {H$VZo {S>J«r H$m H$moU ~ZZm Mm{hE ? 1 

(A) 90  
(B) 60 
(C) 30 

(D) 45 
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4. Which of the following is an Online Word Processor ? 1 

(A) Google Docs 

(B) MS Word 

(C) StarOffice 

(D) Gmail 

5. Which type of activity are businesses ? 1 

(A) Charitable 

(B) Political 

(C) Social  

(D) Economic 

6. Which of the following is not a renewable energy source ? 1 

(A) Sun  

(B) Natural gas 

(C) Water 

(D) Wind 

Answer any 3 questions out of the given 5 questions of 2 marks each. 23=6 

7. What are the types of oral communication ? 2 

8. Well-managed stress is a positive thing. Explain. 2 

9. Enumerate the steps for removal of files from a Temporary Folder.  2 

10. Enlist any four qualities of an entrepreneur.  2 

11. Define Green Economy. 2 

SECTION B 

  (Subject Skills) 40 Marks  

Answer any 10 questions out of the given 12 questions of 1 mark each. 110=10 

12. In attention position, what should be the angle between the feet ? 1 

(A) 90 

(B) 60 

(C) 30 

(D) 45  
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13. {H$g df© _| AmnXm à~§YZ A{Y{Z`_ nm[aV hþAm Wm ? 1 

(A) 2005  
(B) 2007  
(C) 2010  
(D) 2011 

14. A{½Ze_Z Ho$ {H$g VarHo$ _| AmJ H$mo Am°ŠgrOZ H$s Amny{V© amoH$ H$a ~wPm`m OmVm  
h¡ ?  1 

(A) Hy$qbJ (Cooling) 
(B) gm±g amoH$Zm (Smothering) 
(C) ^yIm _maZm (N>rZZm) (Starving)  
(D) Cnamoº$ g^r  

15. g§{jßV ê$n IRB H$m nyU© ê$n Š`m h¡ ?  1 

(A) B§{S>`Z [aµOd© ~Q>¡{b`Ýg (Indian Reserve Battalions)   
(B) B§gO}Ýgr [aµOd© {~«JoS>> (Insurgency Reserve Brigade)   
(C) B§{S>noÝS>oÝQ> amîQ´>r` ~Q>¡{b`Z (Independent Rashtriya Battalion)  
(D) Cnamoº$ _| go H$moB© Zht  

16. {H$g df© _| Ag_ amB\$ëg H$s ñWmnZm hþB© Wr ? 1 

(A) 1657  
(B) 1941  
(C) 1768 

(D)  1835 

17. EH$ H$åß`yQ>a H$mo _moQ>o Vm¡a na {ZåZ{b{IV ^mJm| _| ~m±Q>m Om gH$Vm h¡ :  1 

(A) BZnwQ> `y{ZQ> Am¡a gr.nr.`y. (Input Unit and CPU)  
(B) BZnwQ> `y{ZQ>, AmCQ>nwQ> `y{ZQ> Am¡a gr.nr.`y. (Input Unit, Output Unit and 

CPU) 
(C) gr.nr.`y. Am¡a Am°naoqQ>J {gñQ>_ (CPU and Operating System) 
(D) BZnwQ> `y{ZQ> Am¡a AmCQ>nwQ> `y{ZQ> (Input Unit and Output Unit) 

18. H$åß`yQ>a H$s Ctrl Am¡a A ~Q>Z H$mo EH$ gmW X~mZo go Š`m hmoVm h¡ ? 1 

(A) {S>brQ> (Delete) 
(B) H$m°nr (Copy) 
(C) noñQ> (Paste) 
(D) {gboŠQ> Am°b (Select all) 
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13. In which year was the Disaster Management Act passed ?  1 

(A) 2005 

(B) 2007 

(C) 2010 

(D) 2011 

14. In which method of extinguishing fire is the oxygen supply to the fire 

blocked ?  1 

(A) Cooling 

(B) Smothering 

(C) Starving 

(D) All of the above 

15. What is the full form of the abbreviation IRB ? 1 

(A) Indian Reserve Battalions 

(B) Insurgency Reserve Brigade 

(C) Independent Rashtriya Battalion 

(D) None of the above 

16. In which year was the Assam Rifles established ? 1 

(A) 1657 

(B) 1941 

(C) 1768 

(D) 1835 

17. A computer can be broadly divided into 1 

(A) Input Unit and CPU 

(B) Input Unit, Output Unit and CPU 

(C) CPU and Operating System 

(D) Input Unit and Output Unit 

18. What happens when Ctrl and A keys of a computer are pressed 

simultaneously ? 1 

(A) Delete 

(B) Copy 

(C) Paste 

(D) Select all 
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19. B©-_ob Ho$ `yOaZo_ _| µÁ`mXm go µÁ`mXm {H$VZo Aja hmo gH$Vo h¢ ? 1 

(A) 14 

(B) 24 

(C) 64 

(D) 44 

20. _mZd eara _| ao{S>`b nëg (radial pulse) H$hm± nmB© OmVr h¡ ? 1 

(A) Om±K 

(B) JX©Z  

(C) H$bmB©  

(D) H$ÝYm  

21. ~mobmBZ (bowline) Jm±R> H$m Cn`moJ _w»`V: H$hm± hmoVm h¡ ?  1 

(A) V¡amH$s 

(B) ^madmhZ 

(C) Zm¡H$m`Z 

(D) nd©VmamohU  

22. ^maV H$m nw{bg-OZg§»`m AZwnmV {H$VZm h¡ ? 1 

(A) 122 

(B) 141 

(C) 137 
(D) 160 

23. H§$Q´>moqbJ (H$m°pånQ>oÝQ>) AWm°[aQ>r H$mo àmBdoQ> {gŠ`mo[aQ>r EO|gr bmBg|g Ho$ {bE, {H$g \$m°_© 
na AmdoXZ H$aVr h¡ ? 1 

(A) \$m°_© 16  

(B) \$m°_© 10 
(C)  \$m°_© 1A 

(D)  \$m°_© V   
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19. What is the maximum limit of characters in the username of an e-mail ? 1 

(A) 14  

(B) 24 

(C) 64 

(D) 44 

20. In the human body, where is the radial pulse found ?  1 

(A) Thigh 

(B) Neck 

(C) Wrist 

(D) Shoulder 

21. Where is the bowline knot mainly used ? 1 

(A) Swimming 

(B) Load carrying 

(C) Sailing 

(D) Mountaineering  

22. What is the Police-Population ratio of India ?  1 

(A) 122 

(B) 141 

(C) 137 

(D) 160 

23. On which form can private security agencies apply to the Competent 

Authority for licence ? 1 

(A) Form 16 

(B) Form 10 

(C) Form 1A 

(D) Form V  
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{XE JE 6 àíZm| ‘| go {H$Ýht 4 àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 2 A§H$ H$m h¡ & 24=8 

24. {ZhËWo _wH$m~bo (unarmed combat) Ho$ H$moB© Mma àH$ma {b{IE & 2 

25. AmnXm à~§YZ (disaster management) Ho$ MaUm| (phases) Ho$ ~mao _| {b{IE & 2 

26. g|Q´>b AmåS>© nw{bg \$mog© Ho$ {H$Ýht Mma ~bm| Ho$ Zm_ {b{IE & 2 

27. ~o{gH$ BZnwQ>-AmCQ>nwQ> {gñQ>_ (BIOS) na EH$ g§{jßV {Q>ßnUr {b{IE & 2 

28. ar\$ Jm±R> (Reef Knot) ~m±YZo H$s à{H«$`m H$mo MaU~Õ VarHo$ go {b{IE & 2 

29. CCTV V§Ì (system) Ho$ à_wI ^mJ Š`m h¢ ? {b{IE & 2 

{XE JE 6 àíZm| ‘| go {H$Ýht 4 àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 3 A§H$ H$m h¡ & 34=12 

30. `y{Z\$m°_© Ho$ gmW {gŠ`mo[aQ>r JmS>© H$mo Am¡a Š`m dñVwE± nhZZr Mm{hE± ? 3 

31. Amn EH$ Am°{\$g _| amV H$mo JmS>© S>çyQ>r H$a aho h¢ & AmnH$mo EH$ H$_ao go YwAm± {ZH$bVm 
{XImB© XoVm h¡ & Amn Š`m H$a|Jo ?  3 

32. EH$ Q´>¡{\$H$ A\$ga H$s ^y{_H$m Ed§ H$m`© {b{IE & 3 

33. AmnHo$ _¡ZoOa Zo OZdar Ho$ _hrZo _| EH$ B©-_ob ^oOr Wr & dh B©-_ob AmnH$mo Zht {_b ahr 
h¡ & Cgo Amn gM© _ob gw{dYm H$m BñVo_mb H$aHo$ H¡$go Ty>±T>|Jo ?  3 

34. öX²dm{hH$m V§Ì _| aº$ VWm aº$ dm{hH$mAm| Ho$ H$m`© H$m g§{jßV dU©Z H$s{OE & 3 

35. ~m`mo_o{Q´>H$ nhMmZ (Biometric identification) h_mao OrdZ H$mo gwa{jV ~Zm ahr h¡ & 
EH$ g§{jßV {Q>ßnUr> {b{IE & 3 

{XE JE 4 àíZm| ‘| go {H$Ýht 2 àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 5 A§H$ H$m h¡ & 52=10 

36. AmnXm à~§YZ H$s V¡`mar Ho$ {bE ~Mmd Am¡a {ZîH«$_U Aä`mg (Rescue and 

Evacuation drill) ~hþV _hÎd aIVr h¡ & Eogo Aä`mg Ho$ Š`m \$m`Xo h¢ ?  5 

37. amÁ` ñVa go nw{bg ñQ>oeZ VH$ nw{bg Ho$ g§JR>Z H$m dU©Z H$s{OE & 5 

38. njmKmV (brain stroke) Ho$ g§Ho$V Am¡a bjU Š`m hmoVo h¢ ? 5 

39. EH$ {gŠ`mo[aQ>r gwnadmB µOa H$s ^y{_H$m Am¡a {µOå_odmar (role and responsibility) Š`m 
hmoVr h¡ ? 5 
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Answer any 4 questions out of the given 6 questions of 2 marks each. 24=8 

24. Enlist any four types of unarmed combat. 2 

25. Write about the phases of the disaster management. 2 

26. Write the names of any four forces from Central Armed Police Force. 2 

27. Write a short note on Basic Input-Output System (BIOS). 2 

28. Write the step-wise process of tying a Reef Knot. 2 

29. Enlist the principal components of a CCTV system. 2 

Answer any 4 questions out of the given 6 questions of 3 marks each. 34=12 

30. Which all items should a security guard wear along with the uniform ? 3 

31. You are a night security guard at an office. You notice smoke coming out 

from a room. What would you do ? 3 

32. Write the role and functions of a Traffic Officer. 3 

33. In January, your manager had sent you an e-mail. You are unable to 

locate that e-mail. How would you locate it using Search Mail facility ? 3 

34. Briefly describe the role of blood and blood vessels in the cardio-vascular 

system.   3 

35. Biometric identification is securing our lives. Write a short note. 3 

Answer any 2 questions out of the given 4 questions of 5 marks each. 52=10 

36. Rescue and Evacuation drill is very important for disaster management. 

What are the benefits of such drill ? 5  

37. Describe the organisation from the State level to police station of the 

Police.  5 

38. What are the signs and symptoms of a brain stroke ? 5 

39. What is the role and responsibility of a security supervisor ?  5 

 

  

 


